

ON THE MIKI AND MATIYASEVICH IDENTITIES FOR BERNOULLI NUMBERS

Takashi Agoh¹

Department of Mathematics, Tokyo University of Science, Noda, Chiba, Japan agoh_takashi@ma.noda.tus.ac.jp

Received: 3/29/13, Revised: 12/4/13, Accepted: 2/28/14, Published: 3/24/14

Abstract

In this paper, we study the well-known Miki and Matiyasevich convolution identities for Bernoulli numbers and deduce analogues of their identities for numbers related to Bernoulli numbers.

1. Introduction

The Bernoulli numbers B_n appear in many areas of mathematics, most notably in number theory, the calculus of finite differences and asymptotic analysis with important applications. They can be defined by the generating function

$$\frac{x}{e^x - 1} = \sum_{n=0}^{\infty} B_n \frac{x^n}{n!} \quad (|x| < 2\pi).$$
(1.1)

One can easily see that $B_{2k+1} = 0$ and $(-1)^{k+1}B_{2k} > 0$ for all $k \ge 1$. Let \mathbb{Z}_p be the ring of *p*-adic integers with *p* a prime. The von Staudt-Clausen theorem asserts that $B_n \in \mathbb{Z}_p$ if $p-1 \nmid n$, and $pB_n \in \mathbb{Z}_p$, more precisely $pB_n \equiv -1 \pmod{p}$ if $p-1 \mid n$.

Various types of linear and nonlinear recurrence relations for Bernoulli numbers have been studied for a long time. We can find a large number of formulas in the classical books [17, 18] and in [12]. For special type recurrence and reciprocity relations for these numbers, see, e.g., [1, 2, 3, 8, 11].

As one of many convolution identities for Bernoulli numbers, Miki [16] proved in 1978 the following curious identity based on *p*-adic arguments.

¹The author was partially supported by the Ministry of Education, Science, Sports and Culture, Grant-in-Aid for Scientific Research (C).

INTEGERS: 14 (2014)

Proposition 1.1 (Miki, 1978). For $n \ge 4$,

$$\sum_{i=2}^{n-2} \frac{B_i}{i} \frac{B_{n-i}}{n-i} - \sum_{i=2}^{n-2} \binom{n}{i} \frac{B_i}{i} \frac{B_{n-i}}{n-i} = 2H_n \frac{B_n}{n},$$
(1.2)

where $H_n = 1 + \frac{1}{2} + \cdots + \frac{1}{n}$ is the nth harmonic number.

Since $\frac{1}{i(n-i)} = \frac{1}{n} \left(\frac{1}{i} + \frac{1}{n-i} \right)$, we may rewrite (1.2) as the form

$$\sum_{i=2}^{n-2} \frac{B_i B_{n-i}}{i} - \sum_{i=2}^{n-2} \binom{n}{i} \frac{B_i B_{n-i}}{i} = H_n B_n.$$
(1.3)

In 2005, Miki's identity was extended by Gessel [10] to the Bernoulli polynomials $B_n(\lambda) \ (n \ge 0)$ defined by

$$\frac{xe^{\lambda x}}{e^x - 1} = \sum_{n=0}^{\infty} B_n(\lambda) \frac{x^n}{n!} \quad (|x| < 2\pi).$$

Indeed, he proved the following

Proposition 1.2 (Gessel, 2005). For $n \ge 1$,

$$\sum_{i=1}^{n-1} \frac{B_i(\lambda)B_{n-i}(\lambda)}{i(n-i)} - \frac{2}{n} \sum_{i=0}^{n-1} \binom{n}{i} \frac{B_i(\lambda)B_{n-i}}{n-i} = 2H_{n-1}\frac{B_n(\lambda)}{n} + B_{n-1}(\lambda).$$
(1.4)

Since $B_n(0) = B_n$, identity (1.2) is given as a special case of (1.4) where $\lambda = 0$. Also the case $\lambda = 1/2$ reduces to Faber and Pandharipande's identity shown in [7] (see also [6] observing it from a quite different viewpoint) for the numbers defined by $\overline{B}_n = ((1 - 2^{n-1})/2^{n-1})B_n$. Indeed, we have

$$\overline{B}_n = \frac{1 - 2^{n-1}}{2^{n-1}} B_n = 2\left(\frac{1}{2}\right)^n B_n - B_n = B_n\left(\frac{1}{2}\right).$$

On the other hand, Matiyasevich [15] discovered the following good companion identity for (1.2) with the aid of computer software system "Mathematica":

Proposition 1.3 (Matiyasevich, 1997). For $n \ge 4$,

$$(n+2)\sum_{i=2}^{n-2} B_i B_{n-i} - 2\sum_{i=2}^{n-2} \binom{n+2}{i} B_i B_{n-i} = n(n+1)B_n.$$
(1.5)

There are several kinds of proofs of (1.2), (1.4) and (1.5) using some tools from combinatorics, contour integrals, *p*-adic analysis and others, however we now pay particular attention to Crabb's short and intelligible proof of (1.4) given in [5]. To

INTEGERS: 14 (2014)

prove (1.4), he used a certain functional equation related to the generating function of $B_n(\lambda)$ stated above.

This paper is concerned with the Miki and Matiyasevich convolution identities. In Section 2, as a preliminary we first explain an umbral notation and later introduce Euler-type identities and some required functional identities. In Section 3, we rederive (1.2) and (1.5) with elementary and shorter proofs based on essentially the same idea as Crabb's. In Section 4, we deal with analogues of their convolution identities for the numbers $B'_n = (1-2^n)B_n$ defined by the generating function

$$\frac{x}{e^x + 1} = \sum_{n=0}^{\infty} B'_n \frac{x^n}{n!} \quad (|x| < \pi).$$
(1.6)

We note that these numbers B'_n are closely related to the Genocchi numbers defined by $G_n = 2(1-2^n)B_n = 2B'_n$ $(n \ge 1)$. Therefore, all the results concerning B'_n given below can be expressed in terms of Genocchi numbers.

2. Preliminary

In this section, we prepare some matters which will be needed in the later sections.

Given two sequences $S = \{S_n\}_{n\geq 0}$ and $T = \{T_n\}_{n\geq 0}$ of numbers or functions, we use the following umbral notation (for more details on umbral calculus, see [9, 19, 20, 21]). We now define for any $u, v \in \mathbb{R}$,

$$(uS + vT)^0 = S_0 T_0, \quad (uS + vT)^n = \sum_{i=0}^n \binom{n}{i} u^i v^{n-i} S_i T_{n-i} \quad (n \ge 1).$$

In other words, we expand $(uS+vT)^n$ in full by means of the binomial theorem and replace S^i and T^i by S_i and T_i (i = 0, 1, ..., n), respectively. For example, we may write the most basic identity which is usually attributed to Euler as, considering the sequence $B = \{B_n\}_{n \ge 0}$,

$$(B+B)^0 = (B_0)^2 = 1, \quad (B+B)^n = (1-n)B_n - nB_{n-1} \quad (n \ge 1).$$
 (2.1)

If S(x) and T(x) are the exponential generating functions of the sequences S and T, respectively, then we have

$$S(ux)T(vx) = \sum_{n=0}^{\infty} (uS + vT)^n \frac{x^n}{n!},$$

and hence the following derivative expression can be given:

$$(uS + vT)^n = \left[\frac{d^n}{dx^n}S(ux)T(vx)\right]_{x=0}$$

As we mentioned above, we use the notation $B'_n = (1-2^n)B_n$ $(n \ge 0)$. It is easy to construct the following functional equations from the generating functions (1.1) and (1.6) of B_n and B'_n , respectively:

$$\frac{x}{e^x - 1} \cdot \frac{x}{e^x + 1} = \frac{x}{2} \left(\frac{x}{e^x - 1} - \frac{x}{e^x + 1} \right) = \frac{x}{2} \cdot \frac{2x}{e^{2x} - 1},$$
$$\frac{x}{e^x + 1} \cdot \frac{x}{e^x + 1} = (x - 1)\frac{x}{e^x + 1} + x \left(\frac{d}{dx} \frac{x}{e^x + 1} \right).$$

Using these, we can immediately produce analogues of Euler's identity (2.1) for the sequences $B = \{B_n\}_{n\geq 0}$ and $B' = \{B'_n\}_{n\geq 0}$ by the derivative method.

Proposition 2.1. For $n \ge 1$, we have

$$(B+B')^{n} = \frac{n}{2} \left(B_{n-1} - B'_{n-1} \right) = 2^{n-2} n B_{n-1}, \tag{2.2}$$

$$(B'+B')^n = nB'_{n-1} + (n-1)B'_n.$$
(2.3)

We will observe again these identities from a different direction in Section 4. For $\alpha, \beta \in \mathbb{R}$, we present the following three types of rational function identities:

$$\begin{array}{l} \text{(a)} \quad \frac{1}{X^{\alpha}-1} \cdot \frac{1}{X^{\beta}-1} = \frac{1}{X^{\alpha+\beta}-1} \left(1 + \frac{1}{X^{\alpha}-1} + \frac{1}{X^{\beta}-1} \right) \ (\alpha,\beta,\alpha+\beta\neq 0), \\ \text{(b)} \quad \frac{1}{X^{\alpha}+1} \cdot \frac{1}{X^{\beta}+1} = \frac{1}{X^{\alpha+\beta}-1} \left(1 - \frac{1}{X^{\alpha}+1} - \frac{1}{X^{\beta}+1} \right) \ (\alpha+\beta\neq 0), \\ \text{(c)} \quad \frac{1}{X^{\alpha}-1} \cdot \frac{1}{X^{\beta}+1} = \frac{1}{X^{\alpha+\beta}+1} \left(1 + \frac{1}{X^{\alpha}-1} - \frac{1}{X^{\beta}+1} \right) \ (\alpha\neq 0). \end{array}$$

These identities can be easily confirmed by direct calculations. In the following sections, we utilize them to construct some required functional equations related to the generating functions (1.1) and (1.6) of B_n and B'_n , respectively.

3. The Miki and Matiyasevich Identities

In this section, we first present an elementary and shorter proof of Proposition 1.1 by applying a certain functional equation constructed using (a), which is a slightly modified version of Crabb's proof. Subsequently, we give a very short proof of Proposition 1.3 and later we discuss other types of convolution identities.

In what follows, we assume that $n \ge 4$ and n is even. Otherwise, both sides of (1.2) vanish because $B_{2k+1} = 0$ for all $k \ge 1$ and so it is meaningless.

Proof of Proposition 1.1. Put
$$\alpha = t, \beta = 1 - t$$
 and $X = e^x$ in (a), and multiply

both sides by $t(1-t)x^2$. Then we establish the functional equation

$$\frac{tx}{e^{tx}-1} \cdot \frac{(1-t)x}{e^{(1-t)x}-1} = \frac{x}{e^x-1} \left(t(1-t)x + (1-t)\frac{tx}{e^{tx}-1} + t\frac{(1-t)x}{e^{(1-t)x}-1} \right).$$
(3.1)

Differentiate (3.1) *n*-times with respect to x by applying Leibniz's rule and put x = 0. Then we get

$$(tB + (1-t)B)^n = t(1-t)nB_{n-1} + (1-t)(B+tB)^n + t(B + (1-t)B)^n,$$

namely,

$$\sum_{i=0}^{n} \binom{n}{i} t^{i} (1-t)^{n-i} B_{i} B_{n-i} - t(1-t) n B_{n-1}$$

$$= (1-t) \sum_{i=0}^{n} \binom{n}{i} t^{n-i} B_{i} B_{n-i} + t \sum_{i=0}^{n} \binom{n}{i} (1-t)^{n-i} B_{i} B_{n-i}.$$
(3.2)

If we gather the terms involving $B_n (= B_0 B_n)$, then, noting that $B_{n-1} = 0$ for an even $n \ge 4$, above (3.2) becomes

$$\sum_{i=2}^{n-2} \binom{n}{i} t^{i} (1-t)^{n-i} B_{i} B_{n-i} - (1-t^{n+1} - (1-t)^{n+1}) B_{n}$$

$$= \sum_{i=2}^{n-2} \binom{n}{i} ((1-t)t^{n-i} + t(1-t)^{n-i}) B_{i} B_{n-i}.$$
(3.3)

Divide (3.3) by t(1-t) and integrate it between 0 and 1 with respect to t. Then, making use of the easily shown formulas

$$\int_{0}^{1} t^{m} (1-t)^{k} dt = \frac{m!k!}{(m+k+1)!} \quad (m,k \ge 0),$$

$$\frac{1}{2} \int_{0}^{1} \frac{1-t^{m+1}-(1-t)^{m+1}}{t(1-t)} dt = \int_{0}^{1} \frac{1-t^{m}}{1-t} dt = H_{m} \quad (m \ge 1),$$
(3.4)

we obtain, since $\binom{n}{i} \frac{(i-1)!(n-1-i)!}{(n-1)!} = \frac{n}{i(n-i)} = \frac{1}{i} + \frac{1}{n-i}$,

$$n\sum_{i=2}^{n-2} \frac{B_i B_{n-i}}{i(n-i)} - 2H_n B_n = 2\sum_{i=2}^{n-2} \frac{1}{n-i} \binom{n}{i} B_i B_{n-i} = n\sum_{i=2}^{n-2} \binom{n}{i} \frac{B_i B_{n-i}}{i(n-i)}.$$

This is exactly the same as (1.2) if we divide both sides by n.

It is also possible to deduce (1.2) by dividing (3.3) by 1 - t and integrating between 0 and 1 with respect to t. Indeed, if we divide (3.3) by 1 - t, then we have

$$\sum_{i=2}^{n-2} \binom{n}{i} t^{i} (1-t)^{n-1-i} B_{i} B_{n-i} - \left(\frac{1-t^{n+1}}{1-t} - (1-t)^{n}\right) B_{n}$$
$$= \sum_{i=2}^{n-2} \binom{n}{i} \left(t^{n-i} + t(1-t)^{n-1-i}\right) B_{i} B_{n-i}.$$

Integrating this between 0 and 1, we get, using (3.4),

$$\sum_{i=2}^{n-2} \frac{B_i B_{n-i}}{n-i} + \left(\frac{1}{n+1} - H_{n+1}\right) B_n = \sum_{i=2}^{n-2} \binom{n}{i} \frac{B_i B_{n-i}}{n-i},$$

which is equivalent to (1.3) (hence to (1.2)), since $H_{n+1} = H_n + 1/(n+1)$.

As a further application of (3.3), we can easily reestablish Matiyasevich's identity (1.5) with a simpler and shorter proof.

Proof of Proposition 1.3. Integrating directly both sides of (3.3) from 0 to 1, we obtain, using (3.4),

$$\frac{1}{n+1}\sum_{i=2}^{n-2}B_iB_{n-i} - \frac{n}{n+2}B_n = 2\sum_{i=2}^{n-2}\binom{n}{i}\frac{B_iB_{n-i}}{(n+1-i)(n+2-i)}.$$

Multiply both sides by (n+1)(n+2) to obtain (1.5).

The following identities are also easy consequences from (3.3).

Proposition 3.1. For $n \ge 4$, we have

$$\sum_{i=2}^{n-2} \binom{n}{i} B_i B_{n-i} = -(n+1)B_n \quad \text{(Euler)}, \tag{3.5}$$

$$\sum_{i=2}^{n-2} \binom{n}{i} i B_i B_{n-i} = -\binom{n+1}{2} B_n, \tag{3.6}$$

$$\sum_{i=2}^{n-2} \binom{n}{i} 2^i B_i B_{n-i} = -(n+2^n) B_n, \qquad (3.7)$$

$$\sum_{i=2}^{n-2} \binom{n}{i} 3^{i} (2+2^{n-i}) B_{i} B_{n-i} = -(3^{n+1}+2^{n}+3n-1) B_{n}.$$
(3.8)

Proof. For Euler's identity (3.5), we have only to divide (3.3) by t and put t = 0. For (3.6), differentiate both sides of (3.3) with respect to t only once and put t = 1/2. Then we get

$$\sum_{i=2}^{n-2} \binom{n}{i} (2i-n)B_i B_{n-i} = 0,$$

and hence (3.6) is given by using (3.5). Next, putting t = 1/2 in (3.3) and multiplying it by 2^n , we have

$$\sum_{i=2}^{n-2} \binom{n}{i} B_i B_{n-i} + (1-2^n) B_n = \sum_{i=2}^{n-2} \binom{n}{i} 2^i B_i B_{n-i},$$

which gives (3.7) by using (3.6). Similarly, if we put t = 1/3 in (3.3) and multiply it by 3^{n+1} , then

$$3\sum_{i=2}^{n-2} \binom{n}{i} 2^{n-i} B_i B_{n-i} - (3^{n+1} - 1 - 2^{n+1}) B_n = \sum_{i=2}^{n-2} \binom{n}{i} 3^i (2 + 2^{n-i}) B_i B_{n-i},$$

which leads to (3.8) using (3.7). This completes the proof.

The identities (3.7) and (3.8) can also be obtained by putting
$$t = 2, 3$$
 in (3.3).

4. Analogues of Propositions 1.1 and 1.3

In this section, we study analogues of the Miki and Matiyasevich convolution identities for the numbers $B'_n = (1-2^n)B_n$ by the same arguments as that performed in Section 3.

We first prove the following analogues of Miki's identity (1.2):

Proposition 4.1. For $n \ge 4$, we have

$$\sum_{i=2}^{n-2} \frac{B'_i B'_{n-i}}{i} + \sum_{i=2}^{n-2} \binom{n}{i} \frac{B'_i B_{n-i}}{i} = -\frac{B'_n}{n},$$
(4.1)

$$\sum_{i=2}^{n-2} \frac{B_i B'_{n-i}}{i(n-i)} - \sum_{i=2}^{n-2} \binom{n-1}{i} \frac{2^i B_i B'_{n-i}}{i(n-i)} = H_{n-1} \frac{B'_n}{n}.$$
(4.2)

Proof. We first prove (4.1). Put $\alpha = t$, $\beta = 1 - t$ and $X = e^x$ in (b) and multiply it by $t(1-t)x^2$. Then we get the functional equation

$$\frac{tx}{e^{tx}+1} \cdot \frac{(1-t)x}{e^{(1-t)x}+1} = \frac{x}{e^{x}-1} \left(t(1-t)x - (1-t)\frac{tx}{e^{tx}+1} - t\frac{(1-t)x}{e^{(1-t)x}+1} \right).$$
(4.3)

If we differentiate (4.3) *n*-times with respect to x and put x = 0, then we obtain for the sequences $B = \{B_n\}_{n \ge 0}$ and $B' = \{B'_n\}_{n \ge 0}$,

$$(tB' + (1-t)B')^n = t(1-t)nB_{n-1} - (1-t)(B+tB')^n - t(B+(1-t)B')^n,$$

namely,

$$\sum_{i=0}^{n} \binom{n}{i} t^{i} (1-t)^{n-i} B'_{i} B'_{n-i} - t(1-t) n B_{n-1}$$
$$= -\sum_{i=0}^{n} \binom{n}{i} \left((1-t) t^{n-i} + t(1-t)^{n-i} \right) B_{i} B'_{n-i}.$$

Considering the obvious facts $B_0 = 1$, $B'_0 = 0$ and $B_{n-1} = B'_{n-1} = 0$ for an even $n \ge 4$, this identity implies

$$\sum_{i=2}^{n-2} \binom{n}{i} t^{i} (1-t)^{n-i} B'_{i} B'_{n-i} + ((1-t)t^{n} + t(1-t)^{n}) B'_{n}$$

$$= -\sum_{i=2}^{n-2} \binom{n}{i} ((1-t)t^{n-i} + t(1-t)^{n-i}) B_{i} B'_{n-i}.$$
(4.4)

Dividing (4.4) by t(1-t), we have

$$\sum_{i=2}^{n-2} \binom{n}{i} t^{i-1} (1-t)^{n-1-i} B'_i B'_{n-i} + \left(t^{n-1} + (1-t)^{n-1}\right) B'_n$$
$$= -\sum_{i=2}^{n-2} \binom{n}{i} \left(t^{n-1-i} + (1-t)^{n-1-i}\right) B_i B'_{n-i}.$$

Integrating this between 0 and 1 with respect to t and dividing it by n, we deduce, using the first formula in (3.4),

$$n\sum_{i=2}^{n-2}\frac{B_i'B_{n-i}'}{i(n-i)} + \frac{2}{n}B_n' = -2\sum_{i=2}^{n-2}\binom{n}{i}\frac{B_iB_{n-i}'}{n-i},$$

which gives, since $\frac{1}{i(n-i)} = \frac{1}{n} \left(\frac{1}{i} + \frac{1}{n-i} \right)$,

$$2\sum_{i=2}^{n-2} \frac{B'_i B'_{n-i}}{n-i} + \frac{2}{n} B'_n = -2\sum_{i=2}^{n-2} \binom{n}{i} \frac{B_i B'_{n-i}}{n-i}.$$

This implies (4.1) if we divide this by 2 and replace n - i by i.

For the proof of (4.2), we put $\alpha = t$, $\beta = 1 - t$ and $X = e^x$ in (c) and multiply it by $t(1-t)x^2$ to get the functional equation

$$\frac{tx}{e^{tx}-1} \cdot \frac{(1-t)x}{e^{(1-t)x}+1} = \frac{x}{e^{x}+1} \left(t(1-t)x + (1-t)\frac{tx}{e^{tx}-1} - t\frac{(1-t)x}{e^{(1-t)x}+1} \right).$$
(4.5)

Differentiating (4.5) n times with respect to x and putting x = 0, we obtain

$$(tB + (1-t)B')^n = t(1-t)nB'_{n-1} + (1-t)(B'+tB)^n - t(B'+(1-t)B')^n,$$

which implies

$$\sum_{i=0}^{n} \binom{n}{i} t^{i} (1-t)^{n-i} B_{i} B'_{n-i} - t(1-t) B'_{n-1}$$
$$= (1-t) \sum_{i=0}^{n} \binom{n}{i} t^{n-i} B'_{i} B_{n-i} - t \sum_{i=0}^{n} \binom{n}{i} (1-t)^{n-i} B'_{i} B'_{n-i}.$$

Since $B_0 = 1$, $B'_0 = 0$ and $B_{n-1} = B'_{n-1} = 0$, we can write this as

$$\sum_{i=2}^{n-2} \binom{n}{i} t^{i} (1-t)^{n-i} B_{i} B'_{n-i} - ((1-t) - (1-t)^{n}) B'_{n}$$

$$= (1-t) \sum_{i=2}^{n-2} \binom{n}{i} t^{n-i} B'_{i} B_{n-i} - t \sum_{i=2}^{n-2} \binom{n}{i} (1-t)^{n-i} B'_{i} B'_{n-i}.$$
(4.6)

Dividing (4.6) by t(1-t), we have

$$\sum_{i=2}^{n-2} \binom{n}{i} t^{i-1} (1-t)^{n-1-i} B_i B'_{n-i} - \left(\frac{1-(1-t)^{n-1}}{t}\right) B'_n$$
$$= \sum_{i=2}^{n-2} \binom{n}{i} t^{n-1-i} B'_i B_{n-i} - \sum_{i=2}^{n-2} \binom{n}{i} (1-t)^{n-1-i} B'_i B'_{n-i}.$$

Similarly to the above, integrating between 0 and 1 with respect to t, we have, using both formulas in (3.4),

$$n\sum_{i=2}^{n-2} \frac{B_i B'_{n-i}}{i(n-i)} - H_{n-1} B'_n = \sum_{i=2}^{n-2} \binom{n}{i} \frac{B'_i (B_{n-i} - B'_{n-i})}{n-i}$$
$$= \sum_{i=2}^{n-2} \binom{n}{i} \frac{2^{n-i} B'_i B_{n-i}}{n-i},$$

which yields (4.2) dividing by n and replacing n-i by i on the right-hand side. \Box

Next, we deduce analogues of Matiyas evich's identity (1.5) by making again use of (4.4) and (4.6).

Proposition 4.2. For $n \ge 4$, we have

$$(n+2)\sum_{i=2}^{n-2} B'_i B'_{n-i} + 2\sum_{i=2}^{n-2} \binom{n+2}{i} B_i B'_{n-i} = -2B'_n,$$

$$(4.7)$$

$$(n+2)\sum_{i=2}^{n-2} B_i B'_{n-i} - \sum_{i=2}^{n-2} \binom{n+2}{i} 2^{n-i} B'_i B_{n-i} = \frac{(n-1)(n+2)}{2} B'_n.$$
(4.8)

Proof. Directly integrating (4.4) between 0 and 1 with respect to t, we have

$$\frac{1}{n+1} \sum_{i=2}^{n-2} B'_i B'_{n-i} + \frac{2}{(n+1)(n+2)} B'_n$$

$$= -2 \sum_{i=2}^{n-2} \binom{n}{i} \frac{B_i B'_{n-i}}{(n+1-i)(n+2-i)}.$$
(4.9)

By the same arguments as done above, we obtain from (4.6)

$$\frac{1}{n+1} \sum_{i=2}^{n-2} B_i B'_{n-i} - \left(\frac{1}{2} - \frac{1}{n+1}\right) B'_n$$

$$= \sum_{i=2}^{n-2} \binom{n}{i} \frac{B'_i (B_{n-i} - B'_{n-i})}{(n+1-i)(n+2-i)}$$

$$= \frac{1}{(n+1)(n+2)} \sum_{i=2}^{n-2} \binom{n+2}{i} 2^{n-i} B'_i B_{n-i}.$$
(4.10)

Multiplying (4.9) and (4.10) by (n+1)(n+2), we get the identities indicated. \Box

Euler-type identities (2.2) and (2.3) in Proposition 2.1 can also be deduced from (4.4) and (4.6), respectively. Indeed, if we divide (4.4) and (4.6) by t (or 1-t) and put t = 0 (or t = 1), then we have for $n \ge 4$,

$$\sum_{i=2}^{n-2} \binom{n}{i} B'_i B_{n-i} = -B'_n, \tag{4.11}$$

$$\sum_{i=2}^{n-2} \binom{n}{i} B'_i B'_{n-i} = (n-1)B'_n, \tag{4.12}$$

which are equivalent to (2.2) and (2.3), respectively. Since $B'_{n-i} = (1 - 2^{n-i})B_{n-i}$, subtracting (4.12) from (4.11), we get

$$\sum_{i=2}^{n-2} \binom{n}{i} 2^{n-i} B'_i B_{n-i} = -nB'_n.$$

As easily seen, it is also possible to derive this identity multiplying (3.5) by 2^n and subtracting it from (3.7).

At the end of this paper, we would like to mention that many interesting identities related to Bernoulli, Euler and other polynomials obtained by using umbral calculus and *p*-adic integral on \mathbb{Z}_p can be found in [4, 13, 14].

Acknowledgments. I thank K. Dilcher for his careful reading of the first version of this paper and the anonymous referee for bringing some references on umbral calculus and others to my attention.

References

- T. Agoh, Recurrences for Bernoulli and Euler numbers and polynomials, Expo. Math. 18 (2000), 197–214.
- [2] T. Agoh and K. Dilcher, Convolution identities and lacunary recurrences for Bernoulli numbers, J. Number Theory, 124 (2007), 105–122.
- [3] T. Agoh and K. Dilcher, *Reciprocity relations for Bernoulli numbers*, Amer. Math. Monthly, 115 (2008), 237–244.
- [4] A. Bayad and T. Kim, Identities involving values of Bernstein, q-Bernoulli, and q-Euler polynomials, Russ. J. Math. Phys. 18 (2011), 133–143.
- [5] M. C. Crabb, The Miki-Gessel Bernoulli number identity, Glasg. Math. J. 47 (2005), 327– 328.
- [6] G. V. Dunne and C. Schubert, Bernoulli number identities from quantum field theory, IHES preprint P/04/31, 2004 (www.ihes.fr).
- [7] C. Faber and R. Pandharipande, Hodge integrals and Gromov-Witten theory, Invent. Math. 139 (2000), 173–199.
- [8] M.B. Gelfand, A note on a certain relation among Bernoulli numbers (in Russian), Bashkir. Gos. Univ. Uchen. Zap. Ser. Mat. 31 (1968), 215–216.
- [9] I. M. Gessel, Applications of the classical umbral calculus, Algebra Universalis, 49 (2003), 397–434.
- [10] I.M. Gessel, On Miki's identity for Bernoulli numbers, J. Number Theory, 110 (2005), 75–82.
- H. W. Gould and J. Quaintance, Bernoulli numbers and a new binomial transform identity, J. Integer Seq. 7 (2014), Art. 14.2.2.
- [12] E. R. Hansen, A Table of Series and Products, Prentice-Hall, Englewood Cliffs, NJ, 1975.
- [13] T. Kim, D.S. Kim, T. Mansour, S.-H. Rim and M. Schork, Umbral calculus and Sheffer sequences of polynomials, J. Math. Phys. 54 (2013), 083504.
- [14] D.S. Kim and T. Kim, Some identities of Bernoulli and Euler polynomials arising from umbral calculus, Adv. Stud. Contemp. Math. (Kyungshang), 23 (2013), 159–171.
- [15] Y. Matiyasevich, Identities with Bernoulli numbers, http://logic.pdmi.ras.ru/yumat/ Journal/Bernoulli/bernulli.htm, 1997.
- [16] H. Miki, A relation between Bernoulli numbers, J. Number Theory, 10 (1978), 297–302.
- [17] N. Nielsen, Traité élémentaire des nombres de Bernoulli, Gauthier-Villars, Paris, 1923.
- [18] L. Saalschütz, Vorlesungen über die Bernoullischen Zahlen, ihren Zusammenhang mit den Secanten-Coefficienten und ihre wichtigeren Anwendungen, Verlag von Julius Springer, Berlin, 1893.
- T.I. Robinson, Formal calculus and umbral calculus, Electron. J. Combin. 17 (2010), #R95, 1–31.
- [20] S. Roman, More on the umbral calculus, with emphasis on the q-umbral calculus, J. Math. Anal. Appl. 107 (1985), 222–254.
- [21] S. Roman, The Umbral Calculus, Dover Publ. Inc. New York, 2005.